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Task One: Copy out the sentence and write out the contracted 
form of the underlined words.

Scrooge could not believe his eyes; the ghost was Jacob Marley!

Ebenezer was not a charitable man.

Jacob Marley had not been a kind or generous man; his chain was long and 
ponderous.

Scrooge should not have chased away the carol singer.

“Are not you coming to join us for Christmas?” asked Fred.. 

“Have not you heard? It’s Fezziwig’s Christmas ball!”

Belle does not love Ebenezer because of his greed. Is your apostrophe in 
the correct place? 



Task Two:  Copy out the following sentences. Put apostrophes in the 
correct places. Write C next to the sentence if the apostrophe is for 
contraction/omission and P if it is for possession.

At the sight of an old gentleman in a wig, sitting behind such a high desk, that if he’d been 
two inches taller he must have knocked his head against the ceiling, Scrooge cried in great 
excitement: 

‘Why. it’s old Fezziwig! Bless his heart; it’s Fezziwig alive again!’

Scrooge’s former self, now grown a young man, came briskly in, accompanied by his fellow 
apprentice, Dick. 

In came the cook, with her brother’s friend, the milkman. 

Scrooge’s former self turned down the lamps and Scrooge and the Ghost again stood side 
by side in the open air. 

It isn’t that, spirit. 

May you be happy in the life, you’ve chosen!’

I don’t wish to see it. 

Is your apostrophe in 
the correct place? 






